FB 150

[openka MIG-MAG cBapku ¢ BO34YLUHbIM OXJ1TXKAEHUEM

CBapo4HbLIV TOK

CBapoYyHbIN TOK : OuameTtp
s b OXIEXREHNS  npn B 60% 5CO2, A b 18 O10 B SESh  npomonokn,
FB 150 3m 38440 3 Espo BosgywHoe 180 150 0,6-1,0
FB 150 4m 38441 4 EBpo BosgywHoe 180 150 0,6-1,0
FB 150 5m 38442 5 EBpo BoaayLuHoe 180 150 0,6-1,0
0 18.0
[ASOBOE COI'lJ10 DA,
.k
FB150.N.16.0 @ 16,0 o
*FB150.N.12.0 @ 12,0 -
FB150.N.10.5 @ 10,5
KOHTAKTHbIE HAKOHEYHHVIKI

FB.CTM6.25-06

ApPTUKYN [nametp, Mm

M6x25 v ECU D=0,6 mm

*FB.CTM6.25-08

M6x25 mm ECU D=0,8 mm

FB.CTM6.25-09

M6x25 v ECU D=0,9 mm

FB.CTM6.25-10

M6x25 vm ECU D=1,0 mm

FB.CTM6.25-12

M6x25 mm ECU D=1,2 MM

25.0

ADAMTEP

*FB150.DL FB 150 (naTyHb)

[TPYXXVHA COTJIA

*FB150.SN FB 150 ""“m

N

KAHAJIbl HAMNPABJIAKOLAE

HrnameTtp, MM MaTepuan
FB.SLB-30 3.4 0,6-0,9 cTanb CUHUI
FB.SLB-40 4.4 0,6-0,9 cTanb CUHNI
FB.SLB-50 5,4 0,6-0,9 cTallb CUHUW

* BXoauT B CTaHAapTHY KOMII/IEKTaLUIO.

NOAXOAAT 1S AMMAPATOB FUBAG:
IRMIG 160

MMMMMMMMMMMMMMMMMMMMM





